DETAILS

Part Number BTPRAD
]
p“‘anha Approx. Fitting Time .5 Hour
" OFF ROAD PRODUCTS Max Battery Size 300mm Long

Max Battery Weight 23Kg
F, T'T-I N 6 6 U ID E Battery Type Cycle Duty
Tray Location PSF

‘Piranha Off Road Products are not associated in any way with Toyota Australia or any of
its related companies’

To Suit Prado 90 Series 1KZ-TE 3.0L TDI

PARTS INCLUDED WITH TRAY
1 |(Tray 6 |1 x Body Washer
2 |2 x M6 Bolts 7 |1 x M8 Bolt Short
3 |1 x M6 Nut 8 |Special Top Mount
4 |1 x M6 Washer 9 |2 xJBolts \4_ APPROVED
5|1 x M8 Nut FOR SELFFIT

FITTING INSTRUCTIONS

1. Remove air intake pipe that runs along and into the guard.
Note — You may need to remove inner guard to refit pipe
after the tray is in.

2. Place tray in position and make sure arm is under the air
cleaner support, use existing bolt.

3. Screw M6 bolt into existing captive nut in guard.

4. Drill 6mm hole under leg at the front of the tray, and fit M6
nut, bolt & washer.

5. Tighten all nuts and bolts.

6. Install battery and fit Top Mount, use M8 bolt & nut to
secure radiator support panel.

Please Note: It is the installers responsibility to
check all items have adequate clearance and are
secured/protected against vibration, rubbing &
chaffing.

FITTING GUIDE - PAGE 1 ©Automotive Ignition Systems Pty Ltd 2018 July2018 — BTPRAD



